REHm—F — (a3 FE)

B W & T
ES 2 v 4 KV25C KV40C
Mo fa i il 52 G 3001~ 3001~
HOR O R (ZEHRRE) ke 2430 3290
Koy | A OPT | M oA H OB (WESRM) | WML [ é H il
VU AK | BEEEE AN T A KU Y2 | min? 2500425 230042
u—7A RU»Z | min! 1000+25 1150+25
( WHKER ) c (70~80) (70~80)
( EEhhE ) ke (60~70) (60~70)
. i E kPa 392 294~441
(kgf/cm?) 4 3.0~4.5
o &) C (90) (85~90)
( [ ) min™! (2500) (2300)
b2 P Em - AT mm 0.25 0.2
- PR mm 0.25 0.2
ERF D 5AF) (TR ()
D i FE 77 kPa 2942 2900~3200
(kgf/cm?) 30 30~33
( WHAKE ) C (RE) (REH %)
( [RHE ) min! (290) (250)
N
R ORL 2 1B WL ) XL D kPa 13729 13700
SREIE S BRAAIE 71 (kgf/cm?) (140) (140)
# H 3 Ty IV NRD - Bi A mm 10~12 7~9
(v MFLDT ) N (98) (59~68)
(kgf) (10) (6~17)
AT M ORE e EATHE km/h 12 12
(E Tk + S1F) ( ) ( )
77y FXE | WA TS cm — —
AVFT WD A ha—2 cm — —
s BA br—7 cm — —
7Ty FE | Xy v EEE kPa o -
7oAy (kgf/cm?)
e | TR LS e kPa
(kgf/cm?) o o
(2 v va ViR C
(=2 ¥ [aliin i E) min’!
T |\oaxs  |vx7bay7907 | Nen B B
DTN A MY BV s (kgf = m)
Xix -
K54 F =l bR mm
Ak N
ES Fr— (F=—AL23)) N — —
(kgf)
HS TH HEIEEE O MPa. 34.5 34.5
" Syvay VY =7ty MNES (kgf/cm?) 350 350
C o) C (50+5) (50=+5)
A=A | RA =2V v Tk Nem 157 226
gAY Kt ks (kgf + m) (16) (23)
S A YRS [(BEHE] kPa 314 294
(kgf/cm?) (3.2) 3)
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B W gk L

REHm—F — (a3 FE)

ES 7 v 4 KV25C KV40C
Mo fa i il 52 G 3001~ 3001~
HOR O R (ZEHRRE) ke 2430 3290
Koy | A OPT | M oA H OB (WESRM) | WML [ #H H il
| BRNBEIERERE | NN S m 4.0 4.3
’I{f N IR I3 — —
g NT =277 | HEREE O MPa 15.0 15
& U s VU —7% v hNES (kgf/cm?) 155 155
¢ ) C (50=+5) (50+5)
#1777 L—% |HSTRAT47 7L —F0D HST % 4T 4 7 |HST % AT 4 7
AT OEEER BE# 7 L —|(BEfE T L —%
FHe) ki3]
RENVFERD A b a—2 mm 20 20
HHOABZA hr—2 mm 65 65
U HA I B i — =
i
THIEhRE /) (B EERE: DAN] m 3 3
(B i) km/h (12) (12)
[FZ7 2]
) RILETA =2 7O | mm o -
KT ADORE mm
FTA=V T DES mm
Ny 7 T L— AT N-m - -
" Fv MEST RL2 | (ke m)
[7 4 227:]
T A AT DES mm — —
Ry ROLE mm
i T4 AZBS TS b Nem o -
HEfHT by (kgf * m)
BERLZ L—% | HIEHRE ) (IiRAEGRRF D) HE 11.3 11.3
UAS—EL AL Tk AL v FH | AL v FR
T Z DB EFR
LAA—Z ha—2 mm — —
RILETA =2 7O | mm — —
B4 = 2 B AL ST Svs | Nem 157 157
; (kef = m) (16) (16)
s | EREE T EE MPa 17 17
& VY =7ty MNER (kgf/cm?) 175 175
(o) ke (50=+5) (50+5)
[ S ENZAR I il IS A (7 i
X EEe—7 | K#e—7
B4 =3 7R A
i3 A g3 i) iV S3L2 D1703
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